iF RS (hRAERY)
25A-JAZ 51|(80-100)

FIAE
b i itk EAGR & | BRI K| R 5
(mm) | HET K4 AN | (mm) | EPE
. |25AAD80-22-150 | a0 M22x15 18000 125 ]
bkl oA  JACI0026-150] 100 | M26x1.5 28000 2 5
g
2K 1.0MPa (*<{iT)
BAEIEA 5 svpa (i)
BERTHIE
25 A - JA [80]-[22-150 |
U R B A
EAHLAE (mm WRSL (B ifE)
Bk |28 | EAEmm) Ba | EefUR
em |80 80 22-150 M22 x1.5
R 100 26-150 M26 % 1.5

K63 LT, 1 KA FEHI25A-JS 751

SMERSTE(ZXK)

|25A-JA80-100 |

K2BA-HIRNE . AN R B S bRtk AR 7]

N

/
(7

X

)

B M A|B|C|D|E|F|G|H ﬁ%&gﬁ
25A- JAB0-22-150 | M22x1.5 | 89.5 | 29 50 | 95 | 19 | 16 | 32 18
25A-JA100-26-150 | M26x1.5 | 110 | 35 595 [ 115 | 24 | 20 | 41 24

070




f 3 =hiE ] JEH S 1
g4 SNK : FIELERS T ERR (RoHS>
S 25A-JBZ 7|

1%)2@7@[%] B :/Héla;m*g Ej:1§ﬁq

=i Bl i) o | wme | OO0 | mom 2l

=l 2 (mm) wgEm | e |U (mm)|
25A-JB12-3-050 | 12 | M3x05 112 12 [ o5
25A-JB16-4-070 16 M4 x 0.7 200 200 0.5
25A-JB20-5-080 20 M5 x 0.8 1100 300 0.5
25A-JB25-6-100 | 25 MS x 1 2500 50 | 05
25A-JB40-8-125 32, 40 M8 x 1.25 6000 1300 0.75 450
25A-JB63-10-150 | 50,63 | M10x1.5 11000 3100 1
25A-JB80-16-200 80 M16 x 2 18000 5000 1.25
25A-JB100-20-250 100 M20 x 2.5 28000 7900 2

Gaso

BERTHIE IMERSTE (ZK)
25A-J B [40]|—[8-125 Bal
25A-JB20,16
— Uit | v A M
POIVEY]| 1 | jﬁ
R SR A =21 ,
Bz FEd —Is % : /
&S EAE (mm) ® IZLFRIT
a8 | EAGf(mm) BEHIE | i & TR B cl i
12 12 3-050 M3 x 0.5 C E <P,
16 16 4-070 M4 x 0.7 A
20 20 5-080 M5 x 0.8 R
25 25 6-100 M6 x 1
40 32,40 8-125 M8 x 1.25
63 50, 63 10-150 M10 x 1.5 25A-JB20 ~ 100
80 80 16-200 M16 x 2
20-250 M20 x 2.5
100 100 " y
M _f\ /_
=\ r‘;*i o )
FEETTTEE
B,| d H
C | E P
A
R
(mm)
M Lt k| fi BB -
b £ 12 e AlB|C|D|E|F|G/|H /e AR SARES) N | R
(mm) PREO Y B R| p u | g | s | (<9)
12 25A-JB12-3-050 3 05 | 245/ 3 4 [16 2 6 5 10 | 13 7 0.5 112 112 | 0.02
16 25A-JB16-4-070 4 0.7 | 26.5| 45| 6 |16 2 6 5) 10 15 7 0.5 200 200 | 0.02
20 25A-JB20-5-080 5 0.8 | 33 5 6.5) 21 4.5 7 7 13 | 19.5 8 0.5 1100 300 | 0.04
25 25A-JB25-6-100 6 1 38 6 8 [24 5 8 8 17 | 225 9 0.5 2500 500 | 0.07
32, 40| 25A-JB40-8-125 8 1.25| 51 8.5 11 |31 6 11 |11 22 | 29 13 0.75 6000 1300 | 0.15
50, 63| 25A-JB63-10-150 10 1.5 | 62.5| 10 13 |41 75| 14 [185]| 27 | 355 15 1 11000 3100 | 0.29
80 25A-JB80-16-200 16 2 80.5| 16 20 |50 95| 19 |16 32 | 47.5 18 1.25| 18000 5000 | 0.56
100 25A-JB100-20-250 20 2.5 |101 21 26 [59.5(115] 24 |20 41 59 24 2 28000 7900 [1.04

071



O

ol
3
ot
H

{5 i

e i

SME R~ EI(

Z£K)

25A-JS10, 16

P L (A IRE)
25A-JSZ 51 (10~63)

RIS
B Syl I B | RV | RS :
itk G| BRLURSE [ RJEg | e B IR
(mm) (N) (mm) | AREL | BRGD
25A-JS10-4-070 | 10 M4 x 0.7 80 05
25A-JS16-5-080 | 10,16 | M5x0.8 | 210 05
25A-JS20-8-125 | 20 M8x1.25| 1100 | 05 | 1mpa .,
N i) | 5~70°C
25A-JS32-10-125| 25,32 [M10x1.25| 2500 | 05 | YT |35upa
25A-JS40-14-150| 40 M14x15 | 6000 | 0.75 2
25A-JS63-18-150| 50,63 | M18x1.5 | 11000 1
) EARLE RS %, S iR ETRE A
VE2) T A T-3.5MPail ST, FH1 B 7 B KA ) % P L
BSRRAE
25A-J S | 32 |—| 10-125
RIS R R J
A
W AT
| Eaie BRI
s (mm) . \ ‘
W 10 5 EAARLIRA
16 10, 16 4-070 M4x 0.7
20 20 5-080 M5x 0.8
32 25,32 8-125 | M8x1.25
40 40 10-125|  M10x1.25
63 50, 63 14-150|  M14x15
18-150|  M18x 1.5

B Bl M
—\

M \ M M \
ed NE I @) 40 |Fe /)
F = E RN = e @@
) _ - ] %W o L — :iﬁ &J%

QL/ )

N R y QL/ i:::ﬁj

c |t P ]

N B E G H
R R P
A
25A-JS10 HUAMBLLLEINT, A BN R %4 TF-4mm.,
(mm)
5 M A B (0] D E F G H J) BROR MBS0 KN IREP

25A-JS10-4-070 M4x 0.7 26 8.5 9.5 12 1.5 4 4 7 14.4 17 4.7
25A-JS16-5-080 M5x 0.8 34.5 12 13.5 16 2 6 5 10 19 23 5.8
25A-JS20-8-125 M8x 1.25 43.9 15.5 — 21 4.5 7 7 13 24.8 29.9 7.3
25A-JS32-10-125( M10x 1.25 49.5 17.5 — 24 5 8 8 17 29 33.5 8.5
25A-JS40-14-150 M14x 1.5 60 18.5 — 31 5 1 11 22 38.4 38 11.6
25A-JS63-18-150 M18x 1.5 74.5 23 — 41 7 14 13.5 27 49.2 | 475 14.3

072




